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Exercises

Answer the following questions: W e e Tl ()
o & i
TN U W ()
T B ) Spn JS pRked R BL G B (Y)
Ty e dn o Wy i 6 B (7)

|
|

<
[}
T
@!
o
©
£
(2]

STy JST B8 8 s 6l (V)

S 3 el oo (V)

) U8 B S G 1 e nald A Jadl T8 s (56 ()

Identify the Je\.éi\ U in each of the following sentences:

Ll

?‘—g‘J A :3}’;«) RV u\j Y iﬂl AJ\ N of 3 : uwo? ‘_51.6- {:aug\ ;{.f» Q)
(OCaR) ey iy GE s al

?}&Huk\g‘,);\é;}é QD)

ESCN I e AE: DR

g...i.o.h o o) 1 iry (%)

.fégﬁ.ﬂ %, ’ch.&f (®)

Si e

2 0 2

g B OBYI e Y (1)
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¢ A2 ’ 7 ,°;°.Z; %
.c/.'a\}.k.;;id\)_?_.d\ g.,:ggd\ u./?q(V)

s : ’“.;.?/'.‘f
A Gy SN G R ey e bl o (31 (2D (A)

Examine the following: : ,;b Le J;L.a
ejia.o.U;..A b a0 :}5\.05\ Jsb « Uil y G LIl e » 0
;wo :}.q.a AT J.c\.ds U Js\s b« ULH\ » G2 <<U\h3‘ J..L » O

A3 S U Valy T 1 6 R el L (a2
& 2 -
kataba — kutiba : <5 S 0

J sadd BN JWY1 1 ()
Change the following verbs to passive voice (g JSAl| i;:-‘;ﬁ!):

e g St A

..................... . e

- o
= ==
..................... J«-«-F @—»
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I\

i o o

S 0 T B G iy S A Jsinel) L ¢ ptald Jadh O
yaktubu — yuktabu : LSS — L&
| J sl B JEsY 1 ()
Change the following verbs to passive voice (J szl i;'f-’id\):
T e s 0 T e

. ). 2/ 2 go =
..................... ey Lo

J saal) ’?..J;f’ 5 Q\.;a;f‘ 2 Lhisd N J\..J\ 3y of By *

: 3.;:'3!\ Z\J.};iﬂ\ J.iﬁ
Examine the following examples:

R ot HEe
) b sl O b O
i C‘° LW L 8 o
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et T
z 2

ek 5y 6 ' Aleh 4y ) gadd) ZL’U) cJ.F\.A“ D00 sapal) Jodll o U

.<<J.9\5 il »

J}M ] J..éd\ & Jwad! o (9)
Change the verb in each of the following sentences/to passive voice/:
o [ N 25 ()
c..md\ 3t Lo B (Y
e © g L LI 3 ()
:'Ms o8 }S P Z’:\.’?ﬂ\ P AR (6
I o 0 0 A 1 55 o)
p@.n :“m ‘_,.i:u P“ @)
g uo-\..d\ 2 5l 9 e (N

2.0

L ,¢£ ey
o) SN 8 G (4)

AU ok b gt B BT el D Y (Y )
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Examine the following: } Lok J.nb
o p Lt ot i
QJU‘J)M\JcmwaW@)\M@cwwmdﬂm b(ség

If the 4 4 is S a pronoun, the corresponding éj!\ w2 is used in the

passive voice as can be seen from the following two tables, the first with
verbs in the madi, and the second in the mudar :

o A =
P W Jadl Jyu ()

Sl g Jz Cpyaady At
AR | e ol it

V[
S At

L skt el
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: gb U Jeldlt T30 e (v
Point out the &}9\33\ L3 in each of the following:

° =2 o ok > EA Y i
[4-A 253 & LS J,, g;L@@Q 33,epall By & (V)

T

[Yot 8] 0% t’;;ﬁ anl ‘/)._.;_.,..;/ 3 }L/*w:j oA \;3;33 e %e )
Dre sl 4 GPols HEEE G850 o
e € @Y 85 G 35D o

@ o bl i ws ‘):Y:\l :ll,:))jﬁ; //i%)(é)

oo Qg IE T I

~

PV UR KNV i "; Jw‘ﬁ\ o (V)
Change the verb in each of the following sentences to passive voice:

............................................................... ol o f._?(\)‘
............................................................... w.x_w.Ubé)z_U\‘..’g.u(\‘)
............................................................... ﬁ}bwb&b\éw'ﬁ(\‘)
?/ﬁ,\.ﬁ\ RS AR A o ()




............................................................... Aadly B e (9)
............................................................... 2 G (V)
e a1 ST e L 530 o sedeall il JWA L3101 Ge 2 58 (A)

Identify all the verbs in the passive voice occurring in the lesson, and
point out the &GS\ 46 in each of them:

Gl Coesd ) ple Sl By Jigedi 1 b IS S o & (%)
(SO SR U3l sSleol) | 83ingl 1S 8 iy N

The teacher asks every student «soW) a6 &l <, and he/she replies
Saying: «3Muell / §75gld 1S a6 LWy commencing with the units.

RN TR R | B0 c&‘U\MMU}&J\M\UﬂeWU LY O

Use y4 with the following proper names: : 5\;.33!\ p’\s‘ﬂ\ 26 (Y o)

S uw w — L
<<is fr’f» : «tf » Al c((ié S K gm G

Form nasab from the following nouns:  :&s%¥! sl JI Cadt (1Y)

2o & 2o @ #50 A e o 2ot
coWl (Al plt UL (2SI 013 gud!
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&7 /

g.-.mUlL;\ ,.Uswcfws(n')

Point out all the & s fOrms occurring in the main Iesson

25 b gr ph

[VA€ 8,201 0%...’ DI ) A 323\ \_@V(@\JK %"
Examine the following: ‘ | = @a \3 J.‘if.o
il i ik £ L
Dy CES Of g s 0
?c.p\)bu */ s le/;
¢t 6 it (8005 B t.h_....\ o
i fgit.’n:a"ﬁ;&b)buﬂu)‘a»m O
-?UU«;@;;* O e s OF Gpadaitdl ©
Examine the following: s , PR

o G 3t il o

c«»\—'u‘_}np O

cud @ i@ Ja ¥ o

asl Jool W o

& el of Loty d ) (553 gt iy o it gt 9 s O
i Qs\rgs;aﬁ’ﬂ\ ,\,,;...;J\
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Names of the Arabic months:

B, 2 A

<y (V)
OGS (A)
Olady ()
dss (Vv

3aad 55 (Y V)

el 5 (VY

Examine the following:

A (1)
e (Y)

5 t"J &)

Pl By o G el p) O
3

Sa G dy Sl &l B el O

Make three sentences using Gl. &R fe Jaxr &M B «laly J&31 (V¥

;ﬁoé Bt i/‘ iﬁ/zg o i ot :ﬁ/za 0§ 4 f./ e i
Y O°pd) oW W &S (SN AW Tl s J e a5 « Oy

Change these verbs to ¢ juae :

AW JuY ¢ ek o (V8



Give the plural of each of the following nouns:  : &3%! slewy! @' < () 0)

 Bode A2 G gl o 28 J7 sl (1)

Use each of the following words in a sentence of your own composition:

@

B NS S L el (O G B G (e

> R S ./ u/\iz ..: - A= A8 f: }. o./ «: ./ ; *
o O ad « Wy el Bl g e iy bd WLy e

/};GJ c‘}.fw\
f/ -0 &£ fo - }. - : 2 - ..: f ; -} o
135 BY ¥ s « My B L« Uy Bl sy O

-

e

2 }c./ BPE . 2 > /. ./ -8 - ..: s & 2 E“
4 Jpade Y O pats « My G L« Uy BLIW 4 yly O

. a -4 ik .-: . : a D sz - Aos ooy
«MWy G «JUy Flity L o i i O

M Ko

<<5jl'9£)§» ‘-/6-'3‘3/’ | «55\-93,}“.» J-’{"/j WG4 Pl

..; (=t 7 ..: s -
(Blorndy (JI oo «@lowesyy

ol - ;
e or T

D i BsV 3 KD BN TR (VY

Read the numbers in the following sentences correctly:

=
% L0 2

- o./ ../ 2/: - o./ ..: o -, - 2 ,./ »
oo Blesyl e OIS ko Dlowos SN 1R B ()

Y93 Bleaws 850 05 ()

R “g A o o,

A Bloaii jlpwd) 10 AL IRE
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ke &S0 ol & oy ()

egll il y Blaalf ple 8,70 dualt ) Lo (0)

22 TR S & S

w” 0

®:
1
&
1
t

R @ w
L . e
1:5/ e :f o - = Mo ~
Catas e 8390 8
KK kKKK

e

s

i) last night

3456 rule (pl.

4s15)

;,.m clothes

s1d> shoe (pl. 4>

;.SM le most of the books :
w grain

* ) thief (pl. e 5al)
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W3 bracelet (pl. 5 sl)
5,53 ticket (pl. “$145)
%57 idol (pl. o8y

3}1\% table (of words) (pl. J 914>)

33 );}’a female child buried alive after birth (pl. &13 y¢'sa)
L33 crime, offense, sin (pl. & #3)

s pistol (pl. SLALL)
- truck (US), lorry (UK) (pl. Stista)

‘w5 dates

& soldier (pl. 3 4%)

308 SPY (Pl el )
<> war (pl. Dy>) e é/}éﬁ‘ ;-05\-*5‘ L'l first world war e :\..LW\ Sl civil war
J:d\ name of the 16™ sdranh (literally, bees)
z s2y Clarity o ¢ % with clarity, clearly o #'y clear
:ggg} bad
;-/gi important
7 bell (pl. Ju731) KL
"> hole (of a snake) (pl. o> cg}%f)
bls 7y 55 4 twenty years old
(Muold) Y+ 44 = 2009 CE
7.’:% in that case, therefore, that means
S5 deputy (pl. &1y
;\_._,\ — & ' (iv) to give
i Jr (a-u) to take the place of, replace
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o C"“ 23 (a-a) to slaughter (an animal)
,;Laa sl.p (i) to pray, offer saldh

ek ch«u C“"‘ (a-a) to spread out

\oal Loalj Liad (a-) to erect, set up

By (3 5 B (a-u) to drive (a vehicle)

We ke LLe (a-i) to crucify

/////

B aaig g i1 (x) to be able to, can
Blowl) (32 2 (iv) to attach, join, affix

Lot s

Ly %5 |28 &0 2% (i) to compensate, substitute

z i
£ 84 % ol

=632 536 (v)tobe late o ‘> late
534 4 4 4 W) to be born
& $u & (a-i) to contain

Mabi 5t J5E (v) consider, think over, ponder

i e

te-r § 4> g 4> (i) to direct (a question towards)

2

- - -
FER T e D B

LA aldis ald (v) to precede

dmad o, o (i) to NaMe, call

# Lo
Ll 84¢ a number of days

® N\

a2

L5 handwriting, writing (pl.  sk3)

s door-keeper (pl. & #1%)
L reason (pl. &)

8 7= criminal (pl. d}ﬁi‘-‘)

i ;ﬁ\ Kufah (a town in Iraq)
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Points to Remember

In this lesson, we learn the following:

(1) The Passive Voice (J sgzeol :r-o—ﬂ Jadl) : Here is an example of the active voice
in English changing to the passive voice: ‘The soldier killed the spy’ — ‘The spy was killed.’
In the passive voice, the subject is omitted, and the object takes the place of the subject.

Lef us see how to express the same idea in Arabic:

Active voice (?M :5-—03\ :}3-535\) ; w}i’\a—“ f;-\-i-‘ JJ

Passive voice (/J )_’é.,“.U ;;—«J\ :}19'5‘) = }f»\:d\ J—-:-g :
Note that in the passiQe voice, the 73/ (f;»‘-’f-’ni\) has been omitted, and the maf'd/ bihi has
taken its place, and has become marfl'. It is now called J-&\-n-“ I,

In English we may say, ‘the spy was killed” or ‘the spy was killed by the soldier’. The

second construction is not possible in Arabic.

Formation of the passive voice

The verb in the active voice undergoes certain changes when it is converted to passive
voice. In the madi, the first radical has dammah, and the second has kasrah. In the
mudéri’, the letter of the mudsra'ah ¥ (lﬁ)L-aiﬂ ’—>) has dammat, and the second
radical has fathah, e.q.:

Médi: J}——2 He killed’ » J——23 ‘He was killed’ (qatala — qutila)

If the second radical of the active voice has kasrah, this kasrah remains in the passive

voice, e.g.:

& # 'He drank’ = & 2% It was drunk’; 2e~ 'He heard’ — g« "He/It was heard’

(1)  The letters & «s « «f which are prefixed to the mudér, as in: 4 (i3 (&5 (L&, are called Vletters of muddra'ah’ These
have been combined to form the word ! (they came).
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Mudéri': J:-ﬂ-; ‘He kills" — J-ﬂ-; ‘He is killed’ (yagtulu — yugtalu)

If the second radical of the active voice has fathah, this fathah remains in the passive

voice, e.g.:
2 S \ ’ 4 H \TE : r
=& 'He opens’ —» z—=& Tt is opened’;
g/ a.-/ g/ °..} 2 ;
I'y& 'He reads’ — ' & 'It is read

If the J—sW! L3U is feminine, the verb should also

be feminine, e.g.:

Qlual il (.-9 ‘What was Aminah asked about?’
4-’5 ) Jf @ d>\dll & }3 f}af ‘Sirat al-Fatihah is read in every rak'ah’

If the & y’w of the active voice is a pronoun, its corresponding raf form is used in the

passive voice:

-~

.0 38 el ol *The criminal killed them’ — | 3 ‘They were killed"
3-14-23‘ gs—'“""‘ ‘The headmaster asked me’ — i;J.:» ‘T was asked’

ATEN

L

Formation of the passive voice in mithal verbs:
Madr
In mithal verbs, the formation of the passive voice is regular, e.g.:
355 *He found’ — 4= 9 ‘He/It was found’
W’ *He begat (a child)’ — {’s *He was begotten (born)’

Mudari':
You have learned that in mitha/ verbs, when waw is the first radical, it is omitted in the
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mudari* of the active voice (see Book 5, L 6). This waw returns in the passive voice, e.g.:

i *He finds’ — 45 g ‘He/It is found’

o

i\b ‘He begets (a child)’ — :U }f ‘He is begotten (born)’

Formation of the passive voice in ndqis verbs:

A négis verb ends in a long & which represents an original wéw or y4’ e.g.:
5‘5 which was originally }\J
s Which was originally et

Madr

In the passive voice, the long 4 changes to y&”in both these categories, e.qg.:
W *He recited’ — g\f ‘It was recited’

©3 *He invited’ — (£3 *He was invited” VD)

—— 'He built’ - {e—— It was built’ )

&4» 'He guided’ — ($4» 'He was guided’ (
Mudan'':

The third radical changes to long & in the passive voice, and is written with a y&” in both
these categories, e.g.:

}iﬁo: ‘He recites’ — gl_“—f ‘It is recited’

$5% 'He invites’ - & *He is invited’

(s—— 'He builds’ —»  —— It is built’

gggte-g ‘He guides’ — gs-Lgf ‘He is guided’

Formation of the passive voice in muda" afverbs:
Madi:
In muaa" af verbs, the formation of the passive voice is regular, e.g.:
J—» ‘He pleased’ — J:» ‘He was pleased’
u*‘ ‘He/It touched’ — u—fb ‘He/It was touched’
Note that this regularity is more evident in the forms of the madri with mutaharrik
pronouns where the doubled letters are separated:

<y pw T was pleased’
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o fo 2

e ‘You were touched’

2

Mudari":

Here also the formation of the passive voice is regular, e.g.:
ds . d. 2 oy e
s ‘He pleases’ = yws ‘He is pleased’ () @ 4ke)

da

g ST ATEE : ,}/o}}}oz
2 ‘He pours’ = ) ‘It is poured’ (e : alel)

Here are some examples of the passive voice:

o .ob o :JL«JY\ (34> ‘Man was created from clay.’

o Sl f‘-’ gS‘ Q& 'In which year were you born?’

o . )}"J\ < Uo\i‘\ o N7 :jc-ﬁi ‘Thousands of people are killed in wars.’

o c;L.:.(.J\ < Qbﬁ\ I 42 & Y ‘This book is not found in the bookshops.’

0% :\_j é % /3 .:\,}/__) r;j %@ ‘He neither begat, nor was he begotten.’
(Q112:3)

©)

o \—:" g" J-;-o-" NE S 5-4: ‘A beautiful mosque is being built in our district.”

-
* w7 0

RTtr] & o) s 'Coffee was poured into the cups.’

O

- w” 0 o

(2) sMeoll ATy Blantas’y L’y & aLe W'y T was bomn in the year 1967 CE.' ™ Here

Z e

the word é\ﬁ is manstib because it is dmmd J )—iél, i.e. @ noun denoting the time of action

(adverb). It does not have the tanwin because it is mudaf. Here are some more examples:
%) S °. . g St :/ﬂ 2 a0 f
o .4 sl O] sl Al Lo 4l aallt s30T will study French next year.’
o .daexllaly 3G B &' was in Makkah on Friday.”

o $sluddl 1da O 425 Ll ‘Where are you going this evening?”

(1) CE stands for Christian or Common Fra. We do not use AD as it stands for Anno Domin/ in Latin meaning ‘in the year of (our)
Lord'.
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208 -] = N $ -
(3) Some proper names have J! (al-) like st ! ¢ w2l i, When the particle ' is
used with them, Jlis dropped, e.g. cyw> Y (not: :,M.’J\ b).

4 gvub means ‘Indian’. This is formed from 33-@5\ by adding Zg (-iyy-un) at the end. This
process is called nasab (;_;3\), and the noun after the addition of this ¢ is called
manstib (< gewiall).

Note that certain nouns have irregular mansdb forms, e.q.:

o ¢ (brotherly) from al

o ;s )-?i (paternal) from i-,—*f.
o 33 (prophetic) from (.

(5) i-’-\ (ukhar-u) is the plural of 6;}?_ It is a diptote. The plural of the masculine 33-7 is

0 91 Here are some more examples:
o .1 LIy IO a%dl S Bilal and another student were absent today.”

o 0371 by U 4 st S Bilal and some other students were absent today.”

.

o .« &by LIy il ‘Zainab and another female student were absent.’

.

o . LU’y LI e Zainab and some other female students were absent.”

et e e o o g o i \
In the Qur'én (2:184):%3&-\4 SRR W) C) L,,ag(//v(.g LK %s But

(1)  Not to be confused with mansiib (< s2%), which is with the letter _e.
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whoever of you is sick or is on a journey (fasts the same) number of other days.” As e\-ﬁ is

oo #
an irrational noun, the feminine singular ¢ ;! can also be used with it, e.g.:

y
- o F
|

.‘5}—’.' g
these days, but they are cheap on other days.’

wE - f/ - P 1o - GE .- f /. - //. =
Ll (@ 4 \.g.-/Q ) ‘?W‘ o & 35l ‘The hotels are expensive

@ £ ¢
- Ap g R D = - =
(6) s—— 'he offered saldh.’ The mudari'is gLa-g and the amris J—. The expression
@ ¢
L= J~ means ‘he led us in saldh’, i.e. he was our imam. So —4 J~ means ‘lead us in

saldh as the imam.’
(7) el 19 »ee \; | means ‘either ... or’, e.g.:
o d—a }3 \31 L 3543 \31 v—»’ﬁ\ ‘A noun is either masculine or feminine.’

o J3 j}i L} I9 Ss’ 193 § G| “Either you visit me or I visit you.’
(8) For the /rdb of &L through &Lo.;-wu/ see Points to Remember of Book 5, L 4.

9) 2 }@J\ is a generic plural noun (M\ m.od\ o). These are of two kinds:

(a) Those which make their singular with 4.5 (iyy-un) e.g.:
o &% ‘Arabs’ — is’)’ ‘an Arab’
¢ 335 ‘Turks' — f; Jf ‘a Turk’
o }}”\ﬁg‘Englishmen’ = :S 3531 \an Englishman’

Note that this g is not the ya’ of nasab which we have just learnt in (4). If the y@’ in the

word @f« is the y&'of nasab, the word means Arabic, and if it is the y&' of ifrdd ), then

(1) i.e. the yd'used to change the plural to singular.
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the word means an Arab.

(b) Those which make their singular with 3’ marbitah (%), e.q.:
o E\-éf‘apples’ — &> ‘an apple’

2R
wo ~ ws 0 & 7
o J'dates’ — ¢ yod 'a date

"’

o &l fish’ —» 4845 g fish’

To understand the use of the singular and the plural, consider the following examples: If
the doctor asks you what fruit you like, you say, } }_‘J\ s...r\ 'I like bananas.” And if he

asks you how many you eat after lunch, you say, o > y Jﬁ 'I eat one banana.’

In the same way, you say: @f L e i :r..S\ oY g w\ 'I love the Arabs

because the Prophet was an Arab.’
Note that the dual is formed from this singular form, e.g.:
0 u\-yf— ‘two Arabs’ (not &4 &)

o OUYs ‘two bananas’ (not O ) s2)
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